Expanding Double Brackets Mark Scheme
1(a) x?—2x—35 [1]
1(b) x%2+2x—15 [1]
1(c) x? — 49 [1]
1(d) x2+x-30 [1]
1(e) x?2+9x+8 [1]
8x2 — 12x + 8x — 12
2() 8x% — 4x — 12 [1]
14x% — 16x + 56x — 64
2(b) 14x?% — 40x — 64 [l
40x% + 15x — 8x — 3
2(©) 40x% + 7x — 3 [1]
14x% +21x + 6x + 9
2(d) 14x2% +27x + 9 [l
18x2% — 6x — 24x + 8
2(€) 18x% — 30x + 8 [1]
—20x%2 +12x+ 10x — 6
3@) —20x% +22x — 6 1]
—12x2 - 12x +4x + 4
3() —12x2 —-8x + 4 [l
—12x%2 +8x —15x + 10
3() —12x% — 7x + 10 [1]
—12x%2 —28x —3x—7
3(d) —12x% - 31x -7 [l
—8x% 4+ 5x + 64x — 40
3() —8x% + 69x — 40 [
4(a) x24+5x—7x—35—(x2+4x +4) [1] — Correct expansion
—6x — 39 [1] — Simplifying to correct answer
4(b) x2+4x+4+4x2+8x+ 4 [1] — Correct expansion
5x2+12x+ 8 [1] — Simplifying to correct answer
4(c) x2+14x+49+3x2 +3x—2x—2—x [1] — Correct expansion
4x? + 14x + 47 [1] — Simplifying to correct answer
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5 Rx+2)(x—1)=2x2+2x —2x —2 [1] — Correct expansion
2x% -2 [1] — Simplifying to correct answer
6 %(Zx +2)(x + 10) = %(sz +20x + 2x + 20) [Slu]b—stciigtr(razcitnformula used and terms
¥ 4 11% + 10 ELAS—WIZ(pansion and simplifying to correct
7(a) 110x — 5x2 + 1540 — 70x [1] — Correct expansion
—5x2 + 40x + 1540 [1] — Simplifying to correct answer
7(b) Z5(5)% + 40(5) + 1540 [1] — Substitution of values
£1615 [1] — Simplifying to correct answer
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